ITI Turner 1st Year Module 5 Drills

(1). Which cutting fluid is used for turning copper? | T w1 507 T T dfe
I VRIG B | (BT A1 82

(A) Kerosene | fedt®mrda

(B) Soluble oil | ‘g?mﬂaéa
(C) Lard ail | a‘q“fqaaéa

(D) Mineral oil Iﬁﬁ\_ﬂaﬁ

Correct Answer : B

(2). What is the name of the lubricator? | &g 3NSIR BT 719 R 8??

(A) Oil can | 3T B
(B) Grease gun | W T
(C) Grease cup | iR

(D) Stauffer screw down greaser | STt &P SI3 URR

Correct Answer : B

(3). Which method is used to lubricate the head stock in modern lathe? | 3ﬂﬂﬁ$

AY & 58 Wid  foog Tg-1 Afd o1 v fosar wiran 82
(A) Wick feed | fa® wis



(B) Gravity feed | Jfadi wis
(C) Splash lubrication | ?@QT@_EFT
(D) Oil pump method | 3T by fafe

Correct Answer : C

(4). What is the name of the operation for making holes on work piece? | Eaukey
THS IR ¢ I & [T STIRRA &1 11 FT g2

(A) Boring | ST

(B) Drilling | fSfeiT

(C) Reaming | &

(D) Counter sinking | @3 Rifdh

Correct Answer : B

(5). What is the point angle of drill for drilling mild steel? | H@Wﬁ Iglall &
fore f$d &1 Uige wiv R g2

(A) 80°
(B) 90°
(C) 118°
(D) 120°

Correct Answer : C

(6). Which part of the drill carries the coolant to the cutting edge? | %ﬁﬁﬁ:{

1 41T 2fidcde P die aTd fhaR T & S1d1 82
(A) Lip | fera



(B) Land | IS

(C) Flute | UqJC
(D) Point | QTE_C'

Correct Answer : C

(7). What is the part marked as X in the part of the reamer? | JM B HRTHAX B

U H fafga w82
!

(A) Face | By

(B) Flute | UcjC
(C) Heel | 1@

(D) Cutting edge | FHdq YR

Correct Answer : C

(8). What is the maximum size of parallel shank twist drill? | JHHIR R HQ\IS.

& &1 sty oo fhamn giar 82

(A) 10mm
(B) 11mm



(C) 12mm
(D) 13mm

Correct Answer : D

(9). What is the type of reamer? | WWWW%?

(A) Hand reamer with pilot | W?ﬂ%ﬂ%@ﬂm
(B) Machine reamer | A IR

(C) Hand reamer | %'UB'W

(D) Jobber reamer | SR IR

Correct Answer : C



(10). What is the name of the operation? | WWWW%’P

(A) Reaming | T

(B) Spot facing | Wic B

(C) Counter boring | PIIC T
(D) Counter sinking | FHT3ex Rifd

Correct Answer : D

(11). What is ratio of taper pin hand reamer? | %cr\fﬁq%ts'ﬂmm STFUId T
82

(A) 1:50

(B) 1:40

(C) 1:30

(D) 1:20

Correct Answer : A



(12). What is the name of the part marked as X? | X %Wﬁﬁﬂ%—d HHAT Hh[ [TH

(D) Flute | UqJC

Correct Answer : B



(13). What is the name of the part marked as X? | X %Wf{ﬁl’%ﬁ HHAT Hh[ [TH

(D) Flute | UqJC

Correct Answer : D

(14). Which type of drill is used for drilling brass? | mwwﬁwﬂaﬂﬁ
ST B & BT 31T g2

(A) Quick helix | 2ftsI gferad

(B) Slow helix | AT 3fcrag

(C) Standard helix | A& gleildd
(D) Straight helix | T gfeiad

Correct Answer : B




(15). What is the part marked ‘X’? | x FRIEIES) lﬂ"Tﬁ’fﬂT%’-’

(A) Lip | fera

(B) Flank | Tcich

(C) Land | A8

(D) Chisel edge | &1 YR

Correct Answer : C



